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1. (5 points) Simplify the following complex fraction
(1+3)

T

Solution. We first work inside the parentheses in the numertor, and find a common denominator:
1 1 1 z 1 z+41

1+—=-4+—-—=—+-= .
T 1 r x T

So inverting and multiplying, we have

1+ _ (=)
x oz
r+1 1
oz x
ozt 1
=5
which is the final answer.
2. (5 points) Solve for x
T 2
T _9_ 12
6 3

Solution. In order to clear denominators on both sides, we should multiply both sides by 6:

6(%—2)_6<§>.

Distributing the 6 through on the left-hand side we have

or
r—12=4.
Adding 12 to both sides gives our final answer of x = 16.



